Flight Trimming a HLG


By Don DeLoach


��HLGs aren't difficult to trim as long as one understands the dynamics involved. A glider leaves the flyers' hand at a very high speed-as much as 100 MPH-followed by floating glide at the pace of a slow jog. Understanding and managing this huge speed variation is the challenge.����Rudder offset controls the roll/transition and is effective mainly at launch speeds. Stab tilt and C.G. are generally only effective during the glide. And incidence changes affect both launch and glide.����Begin your initial trimming by setting the CG at 55% of root chord and hand gliding the model in calm conditions at a local park. Look for a gradual left glide turn and no tendency to spin or dive. If the model dives add decalage via the adjustment screw until the model is right at the edge of a stall or even a bit stallish. If the model spins or banks drastically you probably have a crooked fin or wing.����A proper launch should be pitched up about 45-60 degrees and banked right about 45 degrees (right handers). Reverse this scenario for left handers: left bank at launch and trim should be reversed for transition to right glide circle.����One more detail to mull over: think of your arm as a constant in the equation of the launch. The power it is able to produce is different for every individual. But it is important that you know your own power, you are consistent, and you trim your model for it. If you are stronger than the average person you will need to use less decalage and a C.G. further aft than 55%. Conversely if you have a weaker arm your glider may not transition without a further forward C.G. and more decalage. There are many variables�at play but understanding your power and precisely trimming your glider for�it is one of the keys to success at FF HLG.��


�
��Symptom�Cause�Remedy��Model loops on full power launch and is stallish in the glide.


Too much decalage (angular difference between wing & stab)


Decrease decalage by turning adjustment screw clockwise or by bending the TE of stab down.��Model pitches up steeply at launch, doesn't transition and nose dives into the ground.


Not enough decalage.


Increase decalage by turning adjustment screw counter-clockwise or by bending the TE of the stab up.��Model hand glides nicely and launches high but doesn't consistently roll left for the transition.


Not enough left rudder


Add left rudder by bending the TE of the fin left until "flip" or roll-out transition is obtained.��Model doesn't get very high on launch and tends to roll too sharply to the left during launch.


Too much left rudder.


Bend TE of fin right gradually until the sharp left roll is replaced by a high launch and "flip" or roll-out transition to the left.��Model launches high and transitions well but glide circle is either nonexistent or too wide.


Not enough stab tilt.


Soften the glue joint and increase stab tilt until the glide circle is about 100 feet in diameter.��Model launches high and transitions well, but the glide turn tightens up rapidly resulting in a spin into the ground.


Not enough wing wash-in.


First check for warps or misalignment. Assuming model is straight and true you should add another small wash-in wedge to the left wing panel until the spin disappears. Don't reduce left ruder since this controls your launch and transition.��Model launches high and transitions well but the glide circle is too tight.�Too much stab tilt.


Soften the glue joint and decrease stab tilt until the glide circle is�about 100 feet in diameter.��Model launches high and transitions well but is stallish in the glide.                               �C.G. too far back


Add noseweight or decrease tailweight until stall disappears.��Model launches high and transitions well but is pitched-down and too fast in the glide.�C.G. too far forward.


Decrease noseweight or increase tailweight until slow glide is�obtained.��





